Agro Economic Research Centre Himachal Pradesh University (NAAC Accredited 'A' Grade University) Summer hill, Shimla

AERC/Recruitment2025 -26-79

Date: 06/10/2025

Additional

NOTICE

The following are the findings of the Screening Committee constituted to scrutinize applications received by the AERC till the last date as per advertisement for one post of Research Investigator and one post of Research Fellow in the Agro Economic Research Centre (AERC). The applications were verified by the Screening Committee in reference to the qualification required/specified for the above mentioned two posts.

The weightage Criterion as per past practice is as follows:

Table 1 Criterion for calculating Score out of 80

Sr. No.	Class/Overall Research Experience	Weightage %
1	Plus Two	10
2	BA/BSc	20
3	MA/MSc	40
4	Research Experience	10
5	Total Score	80

In calculating experience days were converted into months and then months into years as follows: X days = x/30 months; y months = y/12 months. Research Experience of 5 years = 10 marks as such marks for research experience of x years = 10x/5 marks. Research Experience of more than 5 years = 10 marks (i.e. maximum marks).

Educational qualification: As per the basic requirement of posts M.A./M.Sc. with 2nd Division in Economics with Agri. Economics/Econometrics. Where needed, CGPA/OGPA has been converted into percentage using the conversion factor of the University concerned.

Table 2 List of Applications received w.r.t. one post of Research Investigator in AERC till last date i.e. 03.06.2025 and Findings of the Screening Committee

Sr. No.	Name	Class	Marks Obtained	%	of data collection from tribal area	Experience	Score as per criteria	Overall	Observations
1	Kavita	Plus Two	383/500	76.60	1 5 72 35		07.66	a 111/2	-4 Trainings = 2
	Dhanoa D/o Sh.	B.Sc Agri Honours	3719/4875	76.29			15.26	55.32	months
	Sanjay Dhanoa	M.Sc Agri. in Agriculture Economics	8.10/10	81.00			32.40		
	A comment	Research Experience	No Experience	-			00.00		10 m
2	Rajat	Plus Two	-	64.80			06.48	A STATE	- No
	100	B.Sc - 72.25 Nil Agriculture	Nil	14.45	50.85	certificates submitted by			
		M.Sc.		74.80		A THE RES	29.92		candidate in

A

9		Plus Two B.A	234/400 478/1000	58.50 47.80	1 Years	9 Years	05.85 09.56	-	collection,
		Experience		F0.50			1188		area of HP
		M. A. Economics with Agri. Economics Research	736/1200 Yes	61.33			01.84	46.21	from Himachal Pradesh including Triba Districts - Hails from tribal
	Sh. Krishan Chand	B.A with Economics	6.15/10	61.50	3 Months - ongoing	11 Months	12.30		engaged in data collection
8	Tarsim Lal S/o	Plus Two	377/500	75.40	2 Months	11 Months		-	
		Research Experience	Yes	75.40			08.36		- Currently
		Economics with Agri. Economics					09.26		
	Rajesh Thapa	with History M. A.	742/1200	61.83		2 Months 5 days	24.73	52.91	by candidate
	Thapa S/o Sh.	B.A Honours	7.30/10	73.00	Nil	4 Years	14.60		skills claimed
7	Sushant	Plus Two	261/500	52.20		4.٧	05.22		- Computer
		Experience	Experience		500		05.22		Committee
		Research	No	-			00.00		W.
		M.A Economics with Econometrics & Agriculture Economics	7.16/10	69.50			27.80	50.28	analysis claimed by candidate
	S/o Sh. Tej Ram	B.A Honours with Economics	4365/5750	75.91	Nil	Nil	15.18	50.30	management & statistical tools for data
6	Prem Chand	Plus Two	365/500	73.00	Atti		07.30	-	- Data
		Research Experience	Yes	i			01.74		2010
		M. A. Economics with Econometrics	1140/1600	71.25			28.50		Developed evaluation frameworks Applied data tools
	Kaushik D/o Sh. Harish Kaushik	B.A Honours with Economics	8.05/10	80.50	Nil	10 Months 15 days	16.10	54.84	
5	Harshi	Plus Two	425/500	85.00	200,000		08.50	_	Developed
		Research Experience	yes	-			02.30		subject knowledge & use of statistical tools
		M. Sc. Agriculture Economics	7.16/10	71.60			28.64		
•	D/o Sh. Kultar Singh	B. Sc Honours Agri	4365/5750	75.91	NII	1 year 9 days	15.18	53.52	research paper confirming
4	Nitika Parmar	Research Experience Plus Two	Yes 370/500	74.00	and the second s	And the fact of th	07,40		- Relevant
	Hartta D/o Sh. Yashwant Hartta	Economics with Econometrics		72.61	days	8 Months 11 days	05,40		
		M. A.	1828/2400 1165/1600	76.17 72.81	1year 8 months 11		29.12	58.13	candidate
3	Arundhatti	Plus Two	419/500	83.80	1,	2 Years	08.38 15.23	-	Computer skills claimed by
		Research Experience	No Experience	00.00	received that the Landscape describes the sufficient		00.00		
		with Agriculture Economics	A TOTAL ASSESSMENT OF				State and control of the state		claim



Dr. Anil Kumar S/o Sh. Tarhru Ram	M. A. Economics with Agriculture Economics	662/1200	55.16	7 Months	8 Months 13 days	22.06	47.47	tabulation, analysis & Research papers
	Research Experience	Yes			2.	10.00		

Table 3 Applications received w.r.t. one post of Research Fellow in AERC till last date i.e. 03.06.2025 and Findings of the Screening Committee

Sr. No.	Name	Class	Marks Obtained	%	Experience of data collection from tribal area	Total Experience	Score as per criteria	Overall Score	Remarks
1	Kavita	Plus Two	383/500	76.60	7.1	1 - 1	07.66		
	Dhanoa D/o Sh. Sanjay	B.Sc Agri Honours	3719/4875	76.28	-	-	15.26		- 4 Trainings = 2 months
	Dhanoa	M.Sc Agri. in Agriculture Economics	8.10/10	81.00			32.40	55.32	
		Research Experience	No Experience	- /	3-11-51		00.00		
2	Rajat	Plus Two - 64.80 Nil Nil	Nil	06.48		- No certificates			
		B.Sc Agriculture	-	72.25			14.45	50.85	submitted by candidate in
		M.Sc. Agriculture with Agriculture Economics		74.80			29.92		support of claim
	L Les	Research Experience	No Experience	00.00			00.00		
3	Nitika Parmar	Plus Two	370/500	74.00		The Lates at 15	07.40	100	- Relevant research paper confirming subject knowledge & use of
	D/o Sh. Kultar Singh	B. Sc Honours Agri	4365/5750	75.91	Nil	1 year 9 days	15.18		
		M. Sc. Agriculture Economics	7.16/10	71.60			28.64	53.52	
8		Research Experience	No Experience	-			02.30		statistical tools
4	Harshi	Plus Two	425/500	85.00			08.50		
	Kaushik D/o Sh. Harish Kaushik	B.A Honours with Economics	8.05/10	80.50	Nil	10 Months 15 days	16.01		- Developed evaluation frameworks
		M. A. Economics with Econometrics	1140/1600	71.25			28.50	54.84	-Applied data tools
		Research Experience	Yes	- 1			01.74		
5	Prem Chand	Plus Two	365/500	73.00			07.20		D-1-
4	S/o Sh. Tej Ram	B.A Honours with Economics	4365/5750	75.91	Nil	Nil	07.30 15.18		- Data management & statistical tools for data
		M.A Economics with	7.16/10	69.50		27.80 5	50.28	tools for data analysis claimed by candidate	



		Research Experience	Yes				01.80		tribal area of
	Sh. Krishan Chand	M. A. Economics with Agri. Economics	736/1200	61.33		11 months	01.80	47.17	engaged in data collection from Himachal Pradesh including Tribal Districts - Hails from
		B.A with Economics	6.15/10	61.50	ongoing		24.53		
7	Tarsim Lal S/o	Plus Two	377/500	75.40	3 Months -		12.30		
		Research Experience	Yes				07.54		- Currently
	Thapa S/o Sh. Rajesh Thapa	M. A. Economics with Agri. Economics	742/1200	61.83			08.36	52.91	skills claimed by candidate
		B.A Honours with History	7.30/10	73.00	Nil	4 Years 2 Months 5 days	24.73		
6	Sushant	Plus Two	261/500	52.20			5.22	- 2	
		Research Experience	No Experience	-					- Computer
		& Agriculture Economics					00.00		

APPLICANTS TO NOTE:

- Both Table 2 (Applications received for one post of Research Investigator) & Table 3
 (Applications received for one post of Research Fellow) are <u>ONLY</u> a listing of applications received till the last date as per advertisement and are <u>NOT</u> Merit Lists of applicants.
- 2. Applicants are required to:
 - a. ensure that they have submitted all photocopies in support of their claim,
 - b. check the scores listed against their names and
 - c. in case of <u>any discrepancy in their individual scores</u> they must approach the office of the undersigned to seek rectification/redressal within the specified days.
- 3. The following three days i.e., 13th, 14th & 15th October 2025 have been designated for redressing/settling discrepancies. After this no complaint/query will be entertained.
- 4. Any additional achievements beyond the last date specified in the advertisement will only be considered at the time of interview.
- 5. Inquiry about other applicants is **NOT** allowed.

Pro lessor

Department of Economics Himachal Pradesh University SHIMLA-171008